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1. A bankreconciliation statement is prepared by
2.  Give one cause of applying depreciation.
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(English Version)
You must write the subject-code/paper-code 190 in the box provided on the title page

of your answer-book.

Make sure that the answer-book contains 30 pages (including title page) and are
properly serialed as soon as you receive it.

Question/s n_ams.unmu after leaving blank page/s in the answer-book would not be
evaluated.

Question paper is divided into three parts i.e. (Part-1, Part-11 and Part-TII).
Marks allotted to each question are indicated against it.

In Part-1 Question No. 1 to 10 are 10 questions of | mark each and all questions are
compulsory. Answer of these questions should not exceed more than one line.

In Part-11 Question No. 11 to 25 are total 15 questions of 4 marks each, out of which
10 questions are compulsory to attempt. Answer should be clear and to the point.
The answer of each question should not be more than one page.

In Part-1I1 Question No. 26 to 33 are 8 questions of 6 marks, give answer of any five

questions in clear words and to the point. The answer of these questions should not be
more than two pages.

Part-1 .

[See 9th page

(9)

3. In the absence of partnership agreement what percentage of interest is given to partner to

advance loan to business ? B 1
4.  Write the parties of bill of exchange. 1
S.  Write one example of error of principle. 1
6.  What is life member’s fees ? 1
7. Goodwill is written on the debit side of the trial balance (True/False). 1
8. Write down one example of current liability, 1
9.  State one feature of partnership. 1
10. Write down two examples of outstanding expenses. 1

Part-11

11.  Discuss the difference between Receipt & Payment Account and Income and Expenditure

account. : 4
HN,. How the following information will appear in balance mrnnﬂ onMarch 31, 2016.

Prize distribution = 10,000

Prize awarded = 6,000

Donation for prize received = 7,000 4
13. What is partnership deed ? ’ 4
14. On Ist January 2009 Archana introduced the capital Rs. 50,000. On 1st July 2009 she

further introduced the capital of Rs. 25,000. Calculate interest on capital. Rate of interest per

annum is 10%. 4
15. A partner withdraws Rs. 1,200 at the end of every month. Calculate interest on drawing when

Rate of Interest is 8% p.a. 4
16. State the features of trial balance. 4
17.  Elucidate the meaning of straight line method of depreciation. 4
18. Prepare trial balance from the following information :

Opening stock = 60,000, Cost of goods sold = 1,50,000, Debtor = 60,000,

Creditors = 30,000, Fixed asset = 50,000, Office expenses = 20,000, Sales = 2,00,000,

Capital =90,000, Closing stock = 40,000, 4
190-SS
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19.
= Og
Opening stock = 60,000, Purchases = 1,50,000, Wages 10,00 .
Direct expenses = 2,000, Closing stock = 10,000.
. i 4.
20. State the various services provided by a bank.
21. Rectify the error before preparing the trial balance :
i < Rs. 100
(i) . Purchase book undercast by . . .
(ii) Goods sold to Hari Rs. 151 correctly entered in the sale book but by mistake written
asRs.115. a- . .
(i) Discount given to HarpreetRs. 300 omitted to be written in her account.
(iv) Bill receivable book is over cast by 100. N 4
22. Write down the features of accounting not for profit organisation. | 4
23. Calculate the amount of subscription for current year 3 1-03-2012:
m_.&mo%n.en Received during the year =1,08,000
1-4-2011 31-3-2012
Outstandingsubscription 9,000 - 12,000 :
Prepaid subscription 11,000 2,000 ] . : 4
24. Calculate the due date of bill in following cases: 4
Date of bill Time period
(i) 1 January 3 Months i 2
(i) 30 May. 45 days ) 2
25. Write down items debited in trading account. i
Part-1I1 -
26. A company v.Eo.gmon a machine on 1st January 2005 at Rs. 56,000. Spent Rs. 4000:0n
installation of machinery. On 1st January 2006, one more machine is purchased at Rs. 40,000.
On 1st January 2007, machine purchased on 1st January 2005 sold at Rs. 40,000. Depreciation
rate is 10% on straight line method, depreciation is provided at end of year 31st December.
Prepare Machinery Account from 2005 to 2008. : , 6
27. Prepare bank reconciliation statement as on 31st December 2006 from following
information :
(i) Balance as per cash book =Rs. 1850 i
(ii) Cheque for Rs. 6,000 issued but not presented for payment.
190-SS ,

(10) 5

Calculate cost of goods sold from following :

| (1)
A.EV From Dhawan received the cheque of Rs, 200, deposited in the bank but dishonoured:
(iv) A cheque ofRs. 510 deposited in the bank but wrongly credited as Rs. 501 .
(V) Bank received the interest Rs. 250 on debenture. .

(vi) Cheques of Rs. 8,000 were deposited in bank but not cleared till date
(vii) A cheque of Rs. 500 entered in the cash book but omitted to be entered in bank

6
28. Whatis partnership deed ? Explain the elements of partnership deed. 6
29. MMH“M M._: of exchange ? Write the features of bill of exchange. Describe the parts cme_m of
+5
30. MMW_MM\WM: MWM_HMMOM,:MMMW trial balance is given. .?nvmam Trading s.»nnocbﬁ Profit mbM
Debit balance Credit balance _
N Opening Stock = 5,000 - Sales = 40,000
Purchases = 25,000 Creditors = 4,000
Wages = 4,000 Capital = 20,000
Carriage inward = 300
Carriage outward . 200
Cashinhand = 400 ’
Cashatbank = 17,600
#Salaries . = 2,400 .
“Rent = 1,200
Insurance = . =" 600 ]
Discount allowed = 100
“Fumiture = 10,000
Debtor = 5,000
F&:Em and Stationary = 500
Office Exp. = 1000
Drawing = 700
64,000 64,000
Adjustment : (i) Closing stock = 6000
(i) Outstanding salaries = 400
. (iii) PrepaidRent = 100
(iv) Depreciation on furniture = 10% 6
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E . ' . 2 +
31. Explain diminishing balance depreciation with its advantages and disadvantages. 3+3
32. Journalise to rectify the ei‘ror . 6.

(i) A bill of manufacturer of . 4,600 for construction of small shed wrongly debited to -

repair account. ”‘? ' } . . S
(if) Rs. 1,200 being the cost of radio purc ased for the personal use of proprietor has been
deblted to the radio account.
(iii) Goods sold to Z for Rs. 475 have been wrongly posted in the sale book Rs. 745.
@) A cheque of Rs. 750 received from S. Desai was credited to the account of R. Desai.
) Goods returned by Pradeep worth Rs 300 were not entered in the books at all. ‘

(vi) Rs.200 paid towards mterest has been wrongly debited to dlscount account

33 What do you mean by trial balance ? Explam the steps to prepare tnal balance 6

e
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